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Žák se naučí používat přídavná jména ve větách, bude umět 

stupňování přídavných jmen. 
  
 

Třída 

 

7.  

 

 
 

 

 

             

 
 



Adjectives 
 

Put the words in the correct order to make sentences. 
 

1. got    strong   haven´t   we  teeth 

2. slow    turtle   a   is  very   animal   a   

3. have   brain   people   got   a             

4. cheetah    a   tail  a   has   long   got 

5. has   Tom    small    got   eyes 

6. got   elephant    has   an   ears   large 

7. a  wings   got    budge   has    long 

8. eight   has    legs    got    tarantula    a 

 

 
Describe these animals. Write 5 sentences about each animal. 
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Complete the text  with the adjectives in brackets in the correct form 
comparatives, superlatives or a base form. 
 
Australia is (small) …………..................continent in the world. It´s not (big) 

……………………than the USA. There are many islands around Australia. (big) 

……………........one is Tasmania with the legendary Tasmanian devil. (high) 

………………………mountain on the continent is Mount Kosciusko and (low) 

………………………spot is Lake Eyre. Sydney and Melbourne are 

(important)……………………cities. Canberra is the capital of Australia but it is 

(small)………………………than Melbourne. Summer in Australia is much (warm) 

………………………than in the Czech Republic and winter isn´t as (cold) 

……………………..as it is  in the Czech Republic.  

 
Complete these sentences with than or as. 
 
An elephant is heavier …………………………..a monkey. 
A monkey is not as heavy………………………………..an elephant. 
Dave is still as hungry ………………………………a wolf. 
You are really as proud……………………………………….a peacock. 
The days in June are longer………………………in January. 
The weather in spring is warmer…………………………….in winter. 
The children were during the cartoon as quiet ……………………………mice. 
 
Write the opposites. Choose from these adjectives. A few of them are incorrect.  
wide, light, interesting, slow, warm, heavy, narrow, difficult, fast, cheap, horrible, 
expensive, cold, wet, near.  
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Řešení 
 
Vytvoř věty se správným pořádkem slov. 

1. We haven´t got strong teeth.  

2. A turtle is a very slow animal. 

3. People have got a brain. 

4. A cheetah has got a long tail. 

5. Tom has got small eyes.  

6. An elephant has got large ears.  

7. A budge has got long wings. 

8. A tarantula has got eight legs.  

 

Popiš tato zvířata. Napiš 5 vět o každém zvířeti. Např.  

Žirafa                                    Morče                                           Vlk 

A giraffe is tall.                      A guinea pig is small.                   A wolf is fast. 

It has got a long neck.           It has got small ears.                   It has got four legs. 

It has got small ears.             It is white, brown and black.        It has got long hair. 

It is brown.                             It has got short legs.                    It has got strong teeth. 

It has got four legs.                It has got a small nose.               It has got a long tail. 

 

Doplň text přídavnými jmény v závorkách ve správném tvaru 2. nebo 3. stupně 
přídavných jmen nebo v základním tvaru. 
Australia is the smallest continent in the world. It´s not bigger than the USA. There 

are many islands around Australia. The biggest one is Tasmania with the legendary 

Tasmanian devil. The highest mountain on the continent is Mount Kosciusko and the 

lowest spot is Lake Eyre. Sydney and Melbourne are the most important cities. 

Canberra is the capital of Australia but it is smaller than Melbourne. Summer in 

Australia is much warmer than in the Czech Republic and winter isn´t as cold as it is  

in the Czech Republic.  

 

Doplň do vět than (než) nebo as (jako). 

An elephant is heavier than a monkey. 
A monkey is not as heavy as an elephant. 
Dave is still as hungry as a wolf. 
You are really as proud as a peacock. 
The days in June are longer than in January. 
The weather in spring is warmer than in winter. 
The children were during the cartoon as quiet as mice. 
 
Napiš protiklady. Vybírej z těchto přídavných jmen. Ne všechna přídavná jména 
jsou správná. 
light / heavy 

expensive / cheap 
fast / slow 
cold / warm 
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